

QUOTE DATE: 03/17/25 6:15PM

Print Date: 04/09/25 7:51PM PAGE 1 OF 4

Quoted To

CITY OF KEY WEST

PO BOX 1409 ACCOUNTS PAYABLE KEY WEST FL 33041

QUOTATION INFORMATION

Customer Code KEY100 Doc Owner

Document Date 03/17/25

Project References: CONTROLLER & CABINET UPGRADE

MIOVISION

Item No.	Item Description	Qty Ord	Unit Price	Ext. Price
ORDERED	MCCAIN FLEX CONTROLLERS	14		
MISC	M73101RWA - FLEX RACK MOUNT CONTROLLER, WIFI, CALTRANS	11	\$ 5,075.0000	\$ 55,825.00
CNM-24	FLEX SHELF MOUNT CNTRL,WIFI,CONN BOX STAND, TS2-2/S-OMNI, W/ ABCD CON.	3	\$ 5,867.0000	\$ 17,601.00
ORDERED	356i ATCC CABINET	4	\$ 20,615.0000	\$ 82,460.00
MISC	356i ATCC-HV, R23, IA24CH, R23, FITA24CH, OA-FOTA 16CH-CLIPS,SA-TWO-H.NAT	4		
(32) M73486 SUPRES (4) M91405 MODEL 2 (4) M79444 - ATCC, S	SOR, MODULE LOOP DETECTORS SOR # HE103C-9 511 ATCC INPUT TEST ASSY, 1CH-24CH DLC DETECTION PNL ASSY, SCREWLOCK, RACK MOUNT, RECESSED			
ATC-SIU	ATCC SERIAL INTERFACE UNIT 2218-SIU	8		
MNE-18	ATC MONITOR, 32 CHANNEL W/ETHERNET 120VAC	4		
242	2 CHANNEL DC ISOLATION MODULE	8		
ATC-SPF	HIGH DENSITY SWITCH PACK / FLASHER EDI-2202-HV	36		
MNE-KEY	CMU DATA KEY PROGRAMMING TOOL	4		
ORDERED		6	\$ 20,291.0000	\$ 121,746.00
	356i ATCC CABINET W/O MODULE LOOP DETECTORS			



QUOTE DATE: 03/17/25 6:15PM

Print Date: 04/09/25 7:51PM

2 OF **PAGE**

Item No. Item Description **Qty Ord Unit Price Ext. Price** IN CABINET COMPONENTS TO INCLUDE: (48) M73486 SUPRESSOR # HE103C-9 (6) M91405 MODEL 2511 ATCC INPUT TEST ASSY, 1CH-24CH (6) M79444 ATCC, SDLC DETECTION PNL ASSY, SCREWLOCK, RACKMOUNT, RECESSED 12 ATC-SIU ATCC SERIAL INTERFACE UNIT 2218-SIU MNE-18 ATC MONITOR, 32 CHANNEL W/ETHERNET 120VAC 6 242 2 CHANNEL DC ISOLATION MODULE 12 HIGH DENSITY SWITCH PACK / FLASHER EDI-2202-HV ATC-SPF 54 MNE-KEY CMU DATA KEY PROGRAMMING TOOL 6 SPARE ATC CONFLICT MONITOR MNE-18 ATC MONITOR, 32 CHANNEL W/ETHERNET 120VAC \$ 1,078.0000 \$1,078.00 MIOVISION CORE ONLY **SMARTCORE** MIOVISION CORE - WIRELESS, TELEMETRY, AND SENSOR PLATFORM 10 \$3,985.0000 \$ 39,850.00 MIOVISION CORE WITH UNLIMITED COMMUNICATIONS DATA PACKAGE **SMARTCORE** MIOVISION CORE - WIRELESS, TELEMETRY, AND SENSOR PLATFORM \$3,985.0000 \$ 3,985.00 SMARTSENSE-CONNECTIVI MIOVISION UNLIMITED COMMUNICATIONS 1 \$ 4,125.0000 \$4,125.00 TY MIOVISION VIDEO DECTION SYSTEM - SINGLE CAMERA 660-4-11-MIOVISION VEHICLE DETECTION SYSTEM - VIDEO, CABINET EQUIPMENT, C/O: \$ 22,238.0000 \$ 22,238.00 SMART-CORE-DCM MIOVISION CORE DETECTION AND HARDWARE 1 MIOVISION SMARTSENSE DETECTION LICENSE - LIFETIME OF SMARTSENSE-DETECTION 1 **HARDWARE** SURGE-30 4 CHANNEL IN CABINET SURGE FOR ETHERNET W/SPACE FOR EXTENDER (FOR USE WITH SINGLE CAM)



QUOTE DATE: 03/17/25 6:15PM

Print Date: 04/09/25 7:51PM PAGE 3 OF 4

Item No.	Item Description	Qty Ord	Unit Price	Ext. Price
660-4-12-MIOVISION.	VEHICLE DET. SYSTEM - ABOVE GROUND VIDEO EQUIP., 360 DEGREE CAMERA (*NO ETHERNET CABLE) C/O:	1		
SMARTVIEW-360	360' CAMERA	1		
128-24-AL	128" OAL, 24" OFF SET, 2 PIECE 1 1/2" CAMERA MOUNT	1		
SP-1128-FL-120-PNC	Astro-Brac Clamp Kit, Galaxy Hinged w/ 120" Stainless Cable, Alum	1		
SURGE-32	CAMERA SURGE FOR ETHERNET IN 4X ENCLOSURE (LESS THAN 300 FEET)	1		
	LIED BY OTHERS: 4 PAIR 24 AWG BONDED-PAIRS SOLID BARE COPPER CONDU ILD (100% COVERAGE) WITH DRAIN WIRE	JCTORS, POLY	OLEFIN INSULA	TION,

Quotation Totals And Terms On Next Page



QUOTE DATE: 03/17/25 6:15PM

Print Date: 04/09/25 7:51PM PAGE 4 OF 4

TERMS AND CONDITIONS FOR TRANSPORTATION CONTROL SYSTEMS, INC. (TCS) QUOTATIONS

1. SHIPPING CHARGES

- · All items are quoted FOB Warehouse.
- · Orders delivered to AL, FL, GA, LA, MS, NC, SC, and TN over \$2,500 qualify for freight allowance.

2. LEAD TIMES

· Production schedules are determined after receipt of approved drawings and official release by the customer.

3. ORDER ACCEPTANCE

- · Orders are subject to formal acceptance by TCS upon receipt of a valid purchase order.
- · Customers must reference the TCS quote number on all purchase orders to ensure accurate processing.
- TCS reserves the right to refuse or modify any order at its discretion.

4. PAYMENT TERMS

- · Payment terms are Net 30 Days for established accounts.
- · Late payments may be subject to finance charges at the maximum rate permitted by law.

5. TAXES

- · Tax calculations provided in quotes are estimates only.
- · Actual sales tax will be charged based on the final ship-to address and applicable state and local tax laws.

6. PRICING AND VALIDITY

- · Quotes are valid for 30 days from the date of issuance.
- · Prices are subject to change if the order is not released within 60 days from the date of purchase order.
- · All prices are subject to change due to governmental actions such as tariffs, duties, and regulatory changes.

7. CANCELLATIONS & RETURNS

- · Orders cannot be canceled or modified without written approval from TCS.
- · Returns are subject to restocking fees and prior authorization.

8. LIMITATION OF LIABILITY

• TCS shall not be liable for any indirect, incidental, or consequential damages arising from the sale, delivery, or use of the products.

9. FORCE MAJEURE

• TCS shall not be liable for delays or failure to perform due to causes beyond its reasonable control, including but not limited to acts of God, natural disasters, war, terrorism, governmental actions, labor strikes, pandemics, supply chain disruptions, or any other unforeseen events that prevent or hinder performance.

By placing an order with Transportation Control Systems, Inc., the customer agrees to these terms and conditions.

| Sub-Total | \$ 348,908.00 | | Freight | \$ 0.00 | | Tax | \$ 0.00 | | Total Amount | \$ 348,908.00 | | Signature | Date |